)
%

[b

=a® + 2ab + b?

@ (a+b)?

=a® — 2ab + b?

@ (a-b)?

a2_b2

® (a+b)(a-b)

@ (a-b)(a®+ab+b?) =a®-b>

® (a+b)(a®>-ab+b*) =da®+b?



the 12 9] AF2HY AGHE, AH2Ha EFCD = E

A ZVP 0], AD = a, AB = » A0, A2+

GBFH 9] §lo]=? G
B—

® a® - 2ab - b? @ a® + 3b* - 2ab

® -a*+ 3ab - 2b* @ -a? + 3ab - b?

® -a® + 2ab - b?



3. (x-2y-32)2L At xof gt B0 2 HeshH?

D x? +4y? + 972 — 4xy + 12yz — 62x
@ x% —dxy+4y* — 9722 + 12y7 — 6zx
® x% - (4y + 62)x + 4y? + 12yz + 972
@ 4y? + 12yz + 922 + (—4y — 62)x + x?

® 972 + 4y? + x?






—

iy
10°

ojn

2x—-5

@® (4x-2)+ (7-2x)

7x?

@ (2% +2y%) - 2(y* - 3x)

® (x+y)2 =x3+3x%y+ 3xy2 +y3

x2 4+ 92 4+ 22 + 2xy + 2yz + 22x

@ (x+y+2)?

X2-x+1

® (¥+1)+(x+1)



6.  THHA (2 1 20— 3)(3x + 1+ k) o ARG Aakeel A%} 15
o ), A4 k9] g

@® -3 @ 0 ® 3 @ 6 ® 9



7. oA (5% +3x +1)2 & NSRS W, 2 & AE?

@ 10 @ 13 ® 16 @ 19 ® 25



8. (2x% = 3x% +3x +4)(3xt 4+ 2x3 = 2x2 — Tx + 8) & HIHTE Alof|A] x3
o] Ag?

@ 31 @ 33 ® 35 @ 37 ® 39



9. (10° +2)*9] 7t A2 9] 7o) T Falolat



10. a-b=10°]1,a>+b*>=-14 1, o' + 20 9] ZL-Z F5HH?

© -2 @ -1 ® 0 @1 ® 2



11.

a—i—bzl, 02+b2:—1(,):-_1 Uﬂ,aQOOO—f—bQOOGQ %l—_‘%")

® -2 @ -1 ®0 @1



12. FAF oyl distd 2 +y* =7, x+y=3 & o}, X° +y° 9] &
T-otofet.

D
=%



